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0000000000, g0 g=A%u?+B%:*00000. 000
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000, e, e 00000 (1/4)0/0u, (1/B)9/ov 00 0. 1-00 wl, wd O dey = ewl +
e 00000.20 .:M—S30000 MOOODOOOOODO, hy = h(e,e;) O
00 (i,je{1,2}). 0000

1
dey = _§€ow(1) + eawy + e3(huwg + hiaws) + eawy,
1
d€2 = ——eowg — 61&)% + 63(h21(«Ué + h22w3) + 64(’“)3’
5 (4.11)
dez = —ey(hiiwy + hiawg) — ea(harwy + haow),
1
dey = —§<€1W(1) + e2(")(%)

00000,00 o0 1-00000.ddep=0,(4.11)00 100000 200000,
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ggd.oooon

N 5,1 A2
deo = 61w + €2Wy,

hi1 —h
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A A~ ~0 A2 A 1 hll_h222 A2
déy = éows — é1wy + €3 | haiwy — 5 o + é4wy, (4.13)
hii —h hii —h
dég = éodH — él (%wé + hlgwg) — ég (h21Wé - %w%) s
déy = 6107 + oy + é3dH
ogoooo, o
~0 1 Lo 1 2
Wy = —§—Hh11+§H Wy —thgwo,

1 1
@Y := —Hhywp + (—§ — Hhayy + §H2) wi
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P11+ P22

Iy — has . .
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(Vvih)(Va, V) i= Vi(h(Va, Vs)) = h(Vv, Vo, Vs) — h(V3, Vi, V)

39



0000. 000 hy = (Veh)(ene) 000 (i,4,ke{1,2}). 0000 4,5 € {1,2} O
00

2
dhij = Z(fljkf"%(C + hz‘kW;'C + hijkwlé) (4.18)

k=1
00000,00 w'=0,w2=0,w:=-w?000.(418)0000,
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H; = (1/2)(hii + hae) 000 O,

= 2/ TT? + o+ G (4.19
000,00
1 v—1
C = Z(hlll — 3h221) - T<3h112 - h222)
goaod.
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000.0000
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00000, .0 WillmoreDOOOOOO0OO000. 0000 (4.13), (417) 000 (4.19)
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(dY,dY) = 2|vq — (P (w @ ®+ o Q@ w) (4.25)
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0000,00 FO 00000000, dv* =dv®dv®dwodw000. MO0 p
0®+£0000.0000 MODO400000000000 Im®000,7,(M)00
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Im®0000000,p00000 0,0000000000000000004000
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(i) O i€{1,2,3,41 000 Im®(V;,V,,V;,V;)=000000,000000 qeU, O
00 Im®(n,n,n,n)=00000 neT,(M)000 V,000000000.
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ind,, (D) 000, Uy, OO reV=1 0

O(V,V,V,V) = e 10000 G (reV=10)

D000000000000,00000¢>000000000>00000000
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